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SECTION A
Read Extract A in the Source Booklet before answering Question 1.

1 (a) Define the term ‘profit’ (Extract A, line 12)

(2)

Tharindu sells his T-shirts for 2 000LKR.

(b) Using the data in Extract A, calculate the break-even point for Tharindu’s business.
You are advised to show your working.

P 6 0 6 9 7 R A0 2 1 6

HRR
Botetesoses
00000000
Fogolotesete

[99~e:
CRLELY
(959590 04
G

<

SIS,
S GES
St
bessren 108
plOGaTas %!

(900 9% %
SRR
(95950509
Gk



G0
CRERLL:
505

<5

XS
o

5
SRS

KRR

ot setotetetese!
RSB

G
Sosssogeseses
posote
QGRS

55

<
XSS
S
%
L8

%
<

K
<X
o

955

%

205
o e%
58
RS

02
;;g«w
2

K6
X
~
S 9

5

Q5
3355

<
X
KX
NETR
P

4

KEES
ootetes
R

SRR,
000000
‘5é§‘%$'

2R

o
K5
55
CKKS

<535
S
Sogotoseset
RS

¢
X
5
K5

.::’

%’
S

X

RHK
Stetetels

o%
QLR
CANERL
8904
o%

e

N\
W

20

ZRRLRKLL

'
\

0%
(5

X KA AN
223
\l
LN

\-

%
SR
J ’dt

X

RogetoN
)G

LR
RRLRKS

%%
b
5
e

<

ooqy%
Sogesesotatetotetotets:

ORISR

O
02020,

(X
55
So%ss
%

0000 0%

%
0.0 000
<
S
SRR

25
XS
pose
‘wqas

<5

2%
S
2K

6K
230500030
Sodetetetele!
2L
258

KRS
LXR
B!
LK

%%

<
o

<
%
25
e
%
&5

A
s
X
453
Yote%s

<

0 00
5%
KKK
55

<
%
25
So%s
55
s

<2

Lo
o%
QL

%

SO
555
CRGKS
A‘%“.
S8

06K
RRERKS
QLS
dasosole:
e
KR

o%
%3

RRERS
fotetetotots
SREXXKS

<
LXK RLK

000K
020!

L5

o tototetete?

SR
SIS
RLRAKRLRS

%
<

(c) Analyse two possible effects of poor inventory control for Tharindu.
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Tharindu wants to use sales forecasting before making any decisions about his
business.

(d) Discuss the extent to which the actions of competitors may affect Tharindu'’s sales
forecasts.
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Tharindu is considering using a loan to buy a car for his business.

(e) Assess whether this method of finance is the most suitable for Tharindu.
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SECTIONB
Read Extracts B and C in the Source Booklet before answering Question 2.

2 (a) Define the term ‘business plan’ (Extract B, line 19)

(2)

(b) Using the data in Extract B, calculate the capacity utilisation for George’s Tavern at
lunchtime in September. You are advised to show your working.
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The recent rate of inflation in Cyprus began to increase after April 2018.

(d) Discuss the extent to which this increase might have an impact on George’s
Tavern.
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Damien and Benedict want to make sure George’s Tavern continues to be profitable.

(e) Assess how Damien and Benedict might improve profitability.
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(Total for Question 2 = 30 marks)
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SECTION C
Read Extract D in the Source Booklet before answering Question 3.

3 Evaluate whether Solutions Accountancy should float its business on the stock market.
(20)
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Source for use with Section A
Extract A
Anyone for cricket?

Tharindu Jayantha spends most days working for his parents at the family-owned grocery
shop in Kandy, Sri Lanka. However, when there is an international cricket match in the
country, the 24 year old packs a suitcase and becomes his own boss.

“When | was young, | used to make a few rupees by painting flags on the faces of cricket
supporters outside the stadium,” said Tharindu, “but when | saw how much international
cricket supporters would pay for a souvenir T-shirt, | knew | should change what | was
selling.”

In 2011, Sri Lanka hosted the Cricket World Cup and several matches were played at the
Pallekele stadium near Kandy. This was followed in 2012 by another international cricket
tournament, the World Twenty20. With the opportunity to put his ideas into practice

so close to home, Tharindu was able to make enough profit to allow him to buy more
T-shirts and travel to other stadiums in Sri Lanka whenever international cricket teams
visited.

“Although most of the time matches are only for one day, my expenses are just a sales
pitch permit, transport and accommodation, totalling 5 400 Sri Lankan rupees (LKR).

| also pay 650LKR to buy each T-shirt but | have always been able to sell everything,’
Tharindu continued. “It can be a problem to carry the T-shirts by myself on the train or
bus, especially when there are delays and | have to change transport. | have considered
paying someone to help me or even buying my own car but there is a lot of competition
so | need to do some sales forecasting before making any decisions.”
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Sources for use with Section B
Extract B
Traditional restaurant with a difference

George’s Tavern is located in an old house, in the pretty and traditional village of

Yeroskipou in Cyprus. The village is only 5 km away from the coastal city of Paphos, which

is popular with tourists. The restaurant serves Mediterranean and Greek food. It is unique
because there is no menu, instead it serves a set selection of food prepared with locally 5
grown and seasonal ingredients.

The small portions of different food only include what is in season, so you might get

hand-picked asparagus, wild mushrooms with fresh herbs, aubergines and potatoes

in tomato, or tender kleftiko (oven-baked lamb) from local farmers. Even the drinks are
home-made, using ingredients from the family’s vegetable garden. 10

Evening diners must reserve a table, due to high demand. At lunchtime it is often

much quieter. For example, in September George’s Tavern could have catered for 1,500

lunchtime customers but only served 1,110. Once seated, diners can then stay for the

whole afternoon (noon until three o'clock) or evening (seven until eleven o'clock), as

dishes are served until diners can eat no more. 15

The restaurant is open Tuesdays to Saturdays and charges a fixed price of €25 per

person for all food served during the sitting. Damien and Benedict are the sons of the
founder, George. They now run the restaurant and are eager to make sure George’s Tavern
continues to follow the original business plan and be successful.

Extract C

Cyprus rate of inflation August 2017 to July 2018
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Source for use with Section C
Extract D
Solutions Accountancy

UK based Solutions Accountancy was established in 2007 to provide fixed fee accountancy
services to businesses. Its aim is to be an approachable and innovative business that
puts customers first.

The business grew quickly from a sole trader to a private limited company. The four 5
directors are all family members and it is considered very much a family business by

all involved. This friendly, family culture has remained important over the years to the
employees of Solutions Accountancy and to its customers.

Solutions Accountancy has some very important core values. The directors consider it
important to maintain the following values: 10

+ Honesty at all times

+ Fair pricing

« Maintaining excellent customer service

+  Prioritising employee welfare and development

« Maintaining a strong statement of financial position. 15

The business has continued to experience growth every year and its financial records
show good, sustainable profits. However, the directors have noticed that the rate of
growth has started to slow and there is a concern the future may not be as successful if
this trend continues.

In order to increase the growth rate there would be a need for more investment, 20
particularly in software and to recruit additional employees. It is also thought that the

directors may lack some of the wider marketing and operational skills that would be

required in a bigger company.

As a result, they are considering floating Solutions Accountancy on the stock market.
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